PO Box 3185 East Perth WA 6892

Level 10 40 St Georges Terrace Perth WA 6000

+61 8 9220 9333 info@kordamentha.com

KordaMentha

Circular to Creditors

28 September 2023

Aerison Holdings Pty Ltd (ACN 149 198 176)
Aerison Pty Ltd (ACN 060 786 656)
Aerison Services Pty Ltd (ACN 617 466 529)
Aerison EPC Pty Ltd (ACN 640 499 387)
Aerison Mechanical and Electrical Technology Pty Ltd (ACN 620 639 974)
Aerison Energy Services Pty Ltd (ACN 665 237 392)
(All Subject to Deed of Company Arrangement) ('the Companies')

We refer to the appointment of Richard Tucker, John Bumbak and Craig Shepard as Administrators of the Companies on 6 June 2023 and to the further second meeting of creditors held on 22 September 2023 at which creditors resolved that the Companies execute a pooled Deed of Company Arrangement ('DOCA').

Execution of deed of company arrangement

We advise that the Companies executed a pooled DOCA on 26 September 2023. Enclosed is a Form 509E being a notice to creditors of execution of the DOCA.

A copy of the DOCA has been lodged with ASIC and is available on the KordaMentha website (https://kordamentha.com/creditors/aerison-group) or for inspection at the offices of KordaMentha, Level 10, 40 St Georges Terrace, Perth WA 6000.

Supplier invoices

When invoicing for goods and services provided:

- After 6 June 2023 but before 26 September 2023, suppliers should address invoices to Aerison Pty Ltd (Administrators Appointed), or
- On or after 26 September 2023 but before close of business on the date that the business is sold, suppliers should address invoices to Aerison Pty Ltd (Subject to Deed of Company Arrangement), or
- On or after the date that the business is sold, suppliers should address invoices to Aerison Pty Ltd, or the relevant Aerison Company.

We are continuing to work with APCINFRA towards finalising the date of which the business will be sold and will advise creditors of this date once known.

The Administrators will continue to be responsible for the payment of creditors incurred during the period of our appointment as Administrators and will also be responsible for administering the DOCA.

KordaMentha Page 2

Payment in respect of goods and services provided during the Administration will be made as soon as possible.

Ongoing trading

The Deed Administrators are continuing to trade the Companies' assets in a limited capacity and remain responsible for the day-to-day operations of the Companies whilst the DOCA is being progressed. All purchase orders placed by the Companies must still be made through the Companies' official purchase order process and signed by the Deed Administrators or one of our authorised representatives.

Process and timeframe for lodging proofs of debt

If the DOCA is effectuated, a dividend will be paid to creditors from the Creditors' Trust in accordance with the terms of the DOCA.

If you have not yet lodged a Proof of Debt with supporting documentation, please do so at your earliest convenience. Proof of Debt forms can be obtained from the Companies' page on www.kordamentha.com/Creditors.

If you have already lodged a Proof of Debt, you do not need to lodge another one unless you wish to amend your claim.

Next steps

We will continue to keep creditors informed in respect of the progress of the DOCA.

We again take this opportunity to thank all stakeholders for their support and assistance through the administration process.

Should you have any queries in relation to this matter, please do not hesitate to contact us by email at aerison@kordamentha.com.

Richard Tucker

Deed Administrator

Enc.

Form 509E

Corporations Act 2001

Notice to creditors of execution of a deed of company arrangement

Aerison Holdings Pty Ltd (ACN 149 198 176)

Aerison Pty Ltd (ACN 060 786 656)

Aerison Services Pty Ltd (ACN 617 466 529)

Aerison EPC Pty Ltd (ACN 640 499 387)

Aerison Mechanical and Electrical Technology Pty Ltd (ACN 620 639 974) Aerison Energy Services Pty Ltd (ACN 665 237 392)

(All Subject to Deed of Company Arrangement) ('the Companies')

To creditors of the Companies:

- 1. Notice is given under Section 450B that the Companies executed a pooled Deed of Company Arrangement on 26 September, 2023.
- 2. A copy of the Deed may be inspected at the office of KordaMentha, Level 10, 40 St Georges Terrace, Perth WA 6000.

Dated: 28 September 2023

Richard Tucker Administrator

KordaMentha PO Box 3185

East Perth WA 6892

Corporations Act 2001

Initial remuneration notice

Aerison Holdings Pty Ltd (ACN 149 198 176)
Aerison Pty Ltd (ACN 060 786 656)
Aerison Services Pty Ltd (ACN 617 466 529)
Aerison EPC Pty Ltd (ACN 640 499 387)
Aerison Mechanical and Electrical Technology Pty Ltd (ACN 620 639 974)
Aerison Energy Services Pty Ltd (ACN 665 237 392)
(All Subject to Deed of Company Arrangement) ('the Companies')

The purpose of the Initial Remuneration Notice is to provide you with information about how our remuneration for undertaking the deed of company arrangement will be set and how disbursements may be calculated and incurred.

Remuneration methods

There are four basic methods that may be used to calculate the remuneration of an external administrator. They are:

- Time based or hourly rates This is the most common method. The total fee charged is based on the hourly
 rate charged for each staff member based on their level of experience and multiplied by the number of hours
 spent by each staff member on each of the tasks performed.
- 2. Fixed fee The total fee charged is normally agreed to, and quoted, at the commencement of the administration and is based on the anticipated work through the term of the administration. At times, an insolvency practitioner will finalise an administration for a fixed fee.
- 3. Percentage The total fee is based on a percentage rate of a particular variable, such as the gross proceeds of all assets recovered in an administration.
- 4. Contingency the fee is structured to be contingent on a particular outcome being achieved.

Remuneration method chosen

Given the nature of this administration, remuneration will be calculated on the basis of an hourly rate charged for each person who carried out the work at the direction of the deed administrators multiplied by the number of hours spent by each person on each of the tasks performed as it fairly reflects the necessary work performed and overcomes the difficulty in identifying the scope of the work required, particularly on longer term engagements. It also ensures that creditors are only charged for work that is performed. This method is also chosen as there are a number of tasks that are required to be performed but do not relate to the realisation of assets, for example responding to creditor enquiries, reporting to the Australian Securities and Investments Commission and distributing funds to creditors.

Explanation of the KordaMentha rates

The current rates for our remuneration calculation are set out in the attached appendix together with a general guide showing the qualifications and experience of staff engaged in the administration and the role they take in the administration. These rates are multiplied by the time spent by the applicable staff member in completing tasks relating to the administration as recorded in our time reporting system. The basis of our time reporting system is one of six minute time increments. This allows us to produce a detailed analysis of time spent on each type of task by each individual staff member utilised in the administration. This method provides full accountability to creditors in the method of calculation.

The KordaMentha rates are subject to review and adjustment at 1 July each year to reflect changes in the cost base of the firm and changes in market conditions and rates for comparable insolvency firms. The hourly rates charged encompass the total cost of providing professional services and should not be compared to an hourly wage.

Estimate of total remuneration

At the Resumed Second Meeting of Creditors held on 4 September 2023 creditors voted in approval for the fees and disbursements of the Deed Administrators as follows:

For the period 1 September 2023 to the execution of the DOCA

Company	Fees	Disbursements
Aerison Holdings Pty Ltd	500.00	0.00
Aerison Pty Ltd	2,185.00	0.00
Aerison Services Pty Ltd	500.00	0.00
Aerison EPC Pty Ltd	500.00	0.00
Aerison Mechanical and Electrical Technology Pty Ltd	500.00	0.00
Aerison Energy Services Pty Ltd	500.00	0.00

For the period from the execution of the DOCA to the effectuation or termination of the DOCA

Company	Fees	Disbursements
Aerison Holdings Pty Ltd	1,000.00	600.00
Aerison Pty Ltd	134,675.00	600.00
Aerison Services Pty Ltd	15,500.00	600.00
Aerison EPC Pty Ltd	15,500.00	600.00
Aerison Mechanical and Electrical Technology Pty Ltd	1,000.00	600.00
Aerison Energy Services Pty Ltd	1,000.00	600.00

Please note that if the total remuneration claimed is less than the statutory minimum pursuant to Section 60-15 of Schedule 2 (Insolvency Practice Schedule) of the Corporations Act 2001 (Cth) ('the IPS'), being \$6,127 (exclusive of GST), creditor approval will not be required pursuant to Subsection 60-5(2) of the IPS.

Disbursements

Disbursements are divided into three types:

- Externally provided professional services these are recovered at cost. An example of an externally provided professional service disbursement is legal fees.
- Externally provided non-professional costs these are recovered at cost. Examples of externally provided professional service disbursements are travel, accommodation, search fees and lodgement fees.
- Internal disbursements these are recovered on a reasonable commercial basis. These disbursements are
 generally charged at cost, though some may be charged at a rate which recoups both variable and fixed
 costs. Examples of internal disbursements include printing and postage costs, travel allowance and data
 room hosting.

We are not required to seek creditor approval for disbursements paid to third parties, but must account to creditors. However, we must be satisfied that these disbursements are appropriate, justified and reasonable.

We are required to obtain creditor's consent for the payment of internal disbursements. Creditors will be asked to approve our internal disbursements prior to these disbursements being paid from the administration.

Details of the basis of recovering disbursements are included with the enclosed schedule titled KordaMentha rates.

Dated: Thursday, 28 September 2023

Richard Tucker

Deed Administrator

Appendix A

KordaMentha rates

National

Applicable from 3 July 2023

FY 2024

Classification	\$ per hour*
Principal Appointee/Partner/Executive Director	850
Director	795
Associate Director 1	750
Associate Director 2	695
Manager	650
Senior Executive Analyst	550
Executive Analyst	495
Senior Business Analyst	450
Business Analyst	395
Administration	200

^{*}Exclusive of GST

KordaMentha disbursement policy

Disbursements incurred from third party suppliers are charged at the cost invoiced except for ASIC charges when only an estimated amount is known or the future storage and destruction of books and records, which is charged at the actual rate at the time of the resolution. KordaMentha does not add any margin to disbursements incurred through third parties. There are no charges for internal KordaMentha disbursements, such as internal photocopy use, telephone calls or facsimiles, except for bulk printing and postage that is performed internally, which are calculated on a variable cost recovery basis.

In relation to any employee allowances, being kilometre allowance and reasonable travel allowance, the rate of the allowance set by KordaMentha is at or below the rate set by the Australian Taxation Office.

If a KordaMentha data room is utilised, the fee will be based on the duration and size of the data room. Certain services provided by Forensic Technology may require the processing of electronically stored information into specialist review platforms. Where these specific Forensic Technology resources are utilised, the fee will be based on units (e.g. number of laptops), size (e.g. per gigabyte) and/or period of time (e.g. period of hosting).

GST is applied to disbursements as required by law.

KordaMentha disbursement internal rates and allowances applicable from 3 July 2023

Description	Charge*			
Envelopes	\$0.10 to \$0.62 per envelope (varies	0.62 per envelope (varies due to size)		
Printing (internal print runs)	\$0.06 per page			
ASIC charges for appointments and notifiable events	These amounts will be charged at the amount disclosed in the schedule at the time of the resolution was passed. The current estimated levy amount is: \$100.00 per appointee or notifiable event			
Travel Reimbursement	\$0.60 per kilometre			
Meal per diem, etc.	Up to \$92.70 per day per staff memb	er (unless other arrangements made)		
Storage and destruction of books and records of the entity and the external administration	Storage - \$3.24 per box per annum Cost of box establishment - \$7.16 per box Destruction - \$6.12 per box			
RelativityOne fee	Data hosting	\$20.00 per GB per month		
	Repository workspace	\$10.00 per GB per month		
	Cold storage	\$5.00 per GB per month		
	Data processing	\$10.00 per GB		
	Note: only one of Data hosting, Repository workspace, Cold storage or Data processing cost will be charged at any one time			
Data Room Plan and Fee	Refer to attached table			

^{*}Exclusive of GST, reviewed annually on 1 July. Postage is based on standard weight – amounts above that will be at cost.

Data Room Plan and Fee

250 MB I	Data Plan			1 GB Data	a Plan			2 GB Dat	a Plan		
	Price per Month (excl GST)	Total Cost (excl GST)	Extra 50 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 100 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 200 MB, per Month
Monthly	\$499.00	\$499.00	\$179.00	Monthly	\$1,299.00	\$1,299.00	\$179.00	Monthly	\$1,799.00	\$1,799.00	\$179.00
3 months	\$424.00	\$1,272.00	\$152.00	3 months	\$1,104.00	\$3,312.00	\$152.00	3 months	\$1,529.00	\$4,587.00	\$152.00
6 months	\$374.00	\$2,244.00	\$134.00	6 months	\$974.00	\$5,844.00	\$134.00	6 months	\$1,349.00	\$8,094.00	\$134.00
12 months	\$299.00	\$3,588.00	\$107.00	12 months	\$779.00	\$9,348.00	\$107.00	12 months	\$1,079.00	\$12,948.00	\$107.00
4 GB Dat	a Plan			5 GB Data	a Plan			6 GB Dat	a Plan		
	Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month
Monthly	\$2,499.00	\$2,499.00	\$179.00	Monthly	\$2,799.00	\$2,799.00	\$179.00	Monthly	\$3,099.00	\$3,099.00	\$179.00
3 months	\$2,124.00	\$6,372.00	\$152.00	3 months	\$2,379.00	\$7,137.00	\$152.00	3 months	\$2,634.00	\$7,902.00	\$152.00
6 months	\$1,874.00	\$11,244.00	\$134.00	6 months	\$2,099.00	\$12,594.00	\$134.00	6 months	\$2,324.00	\$13,944.00	\$134.00
12 months	\$1,499.00	\$17,988.00	\$107.00	12 months	\$1,679.00	\$20,148.00	\$107.00	12 months	\$1,859.00	\$22,308.00	\$107.00
7 GB Dat	a Plan			8 GB Data	a Plan			9 GB Dat	a Plan		
	Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month
Monthly	\$3,349.00	\$3,349.00	\$179.00	Monthly	\$3,449.00	\$3,449.00	\$179.00	Monthly	\$3,549.00	\$3,549.00	\$179.00
3 months	\$2,847.00	\$8,541.00	\$152.00	3 months	\$2,932.00	\$8,796.00	\$152.00	3 months	\$3,017.00	\$9,051.00	\$152.00
6 months	\$2,512.00	\$15,072.00	\$134.00	6 months	\$2,587.00	\$15,522.00	\$134.00	6 months	\$2,662.00	\$15,972.00	\$134.00
12 months	\$2,009.00	\$24,108.00	\$107.00	12 months	\$2,069.00	\$24,828.00	\$107.00	12 months	\$2,129.00	\$25,548.00	\$107.00
10 GB Da	ıta Plan			11 GB Da	ta Plan			12 GB Da	ata Plan		
	Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month
Monthly	\$3,899.00	\$3,899.00	\$179.00	Monthly	\$4,299.00	\$4,299.00	\$179.00	Monthly	\$4,699.00	\$4,699.00	\$179.00
3 months	\$3,314.00	\$9,942.00	\$152.00	3 months	\$3,654.00	\$10,962.00	\$152.00	3 months	\$3,994.00	\$11,982.00	\$152.00
6 months	\$2,924.00	\$17,544.00	\$134.00	6 months	\$3,224.00	\$19,344.00	\$134.00	6 months	\$3,524.00	\$21,144.00	\$134.00
12 months	\$2,339.00	\$28,068.00	\$107.00	12 months	\$2,579.00	\$30,948.00	\$107.00	12 months	\$2,819.00	\$33,828.00	\$107.00
13 GB Da	ita Plan			14 GB Da	ta Plan			15 GB Da	ata Plan		
	Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month
Monthly	\$5,099.00	\$5,099.00	\$179.00	Monthly	\$5,499.00	\$5,499.00	\$179.00	Monthly	\$5,849.00	\$5,849.00	\$179.00
3 months	\$4,334.00	\$13,002.00	\$152.00	3 months	\$4,674.00	\$14,022.00	\$152.00	3 months	\$4,972.00	\$14,916.00	\$152.00
6 months	\$3,824.00	\$22,944.00	\$134.00	6 months	\$4,124.00	\$24,744.00	\$134.00	6 months	\$4,387.00	\$26,322.00	\$134.00
12 months	\$3,059.00	\$36,708.00	\$107.00	12 months	\$3,299.00	\$39,588.00	\$107.00	12 months	\$3,509.00	\$42,108.00	\$107.00

KordaMentha

16 GB Da	ata Plan			17 GB Da	ta Plan			18 GB Da	ata Plan		
	Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month		Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month
Monthly	\$6,249.00	\$6,249.00	\$179.00	Monthly	\$6,649.00	\$6,649.00	\$179.00	Monthly	\$7,049.00	\$7,049.00	\$179.00
3 months	\$5,312.00	\$15,936.00	\$152.00	3 months	\$5,652.00	\$16,956.00	\$152.00	3 months	\$5,992.00	\$17,976.00	\$152.00
6 months	\$4,687.00	\$28,122.00	\$134.00	6 months	\$4,987.00	\$29,922.00	\$134.00	6 months	\$5,287.00	\$31,722.00	\$134.00
12 months	\$3,749.00	\$44,988.00	\$107.00	12 months	\$3,989.00	\$47,868.00	\$107.00	12 months	\$4,229.00	\$50,748.00	\$107.00
19 GB Data	Plan			20 GB Data	Plan						
19 GB Data	Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month	20 GB Data	Price per Month (excl GST)	Total Cost (excl GST)	Extra 400 MB, per Month				
19 GB Data	Price per Month (excl		400 MB, per	20 GB Data	Price per Month (excl		400 MB, per				
	Price per Month (excl GST)	(excl GST)	400 MB, per Month		Price per Month (excl GST)	(excl GST)	400 MB, per Month				
Monthly	Price per Month (excl GST) \$7,449.00	(excl GST) \$7,449.00	400 MB, per Month \$179.00	Monthly	Price per Month (excl GST) \$7,849.00	(excl GST) \$7,849.00	400 MB, per Month \$179.00				

KordaMentha classifications

Classification	Guide to level of experience
Principal Appointee/Partner/ Executive Director	Registered/Official Liquidator/Trustee, his or her Partners. Specialist skills brought to the administration. Generally in excess of 10 years' experience.
Director	More than eight years' experience and more than three years as a Manager. Answerable to the appointee, but otherwise responsible for all aspects of an administration. Controls staffing and their training.
Associate Director 1	Six to eight years' experience with well developed technical and commercial skills. Will have conduct of minor administrations and experience in control of a small to medium team of staff. Assists with the planning and control of medium to large administrations.
Associate Director 2	Five to seven years' experience with well developed technical and commercial skills. Will have conduct of minor administrations and experience in control of a small to medium team of staff. Assists with the planning and control of medium to large administrations.
Manager	Four to six years' experience. Will have had conduct of minor administrations and experience in control of one to three staff. Assists with the planning control of medium to large administrations.
Senior Executive Analyst	Three to four years' experience. Assists planning and control of small to medium administrations as well as performing some of the more difficult tasks on larger administrations.
Executive Analyst	Two to three years' experience. Required to control the tasks on small administrations and is responsible for assisting tasks on medium to large administrations.
Senior Business Analyst	Graduate with one to two years' experience. Required to assist in day-to-day tasks under supervision of more senior staff.
Business Analyst	Undergraduate or graduate with up to one year experience. Required to assist in day-to-day tasks under supervision of more senior staff.
Administration	Appropriate skills, including books and records management and accounts processing particular to the administration.